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QUESTION 1

Which default protocol and port are used for JIMS to SRX client communication? 

A. WMI over TCP; port 389 

B. ADSI over TCP; port 389 

C. HTTPS over TCP: port 443 

D. RPC over TCP, port 135 

Correct Answer: C 

Reference: https://www.juniper.net/documentation/en_US/jims/topics/task/configuration/jims-
certificateconfiguring.html#:~:text=By%20default%2C%20the%20HTTPS%20port%20is%20443.andtext=The%20JIMS
%20server%20communicates%20with,Firewall%20to%20allow%20this%20communication 

 

QUESTION 2

What are two elements of a custom IDP/IPS attack object? (Choose two.) 

A. the attack signature 

B. the severity of the attack 

C. the destination zone 

D. the exempt rulebase 

Correct Answer: AB 

 

 

QUESTION 3

Click the Exhibit button. 

Which two statements are true about the session shown in the exhibit? (Choose two.) 

A. Two security policies are required for bidirectional traffic flow. 
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B. The ALG was enabled by manual configuration. 

C. The ALG was enabled by default. 

D. One security policy is required for bidirectional traffic flow. 

Correct Answer: AB 

 

 

QUESTION 4

Which statement is true about high availability (HA) chassis clusters for the SRX Series device? 

A. Cluster nodes require an upgrade to HA compliant Routing Engines. 

B. Cluster nodes must be connected through a Layer 2 switch. 

C. There can be active/passive or active/active clusters. 

D. HA clusters must use NAT to prevent overlapping subnets between the nodes. 

Correct Answer: C 

 

 

QUESTION 5

The AppQoE module of AppSecure provides which function? 

A. The AppQoE module provides application-based routing. 

B. The AppQoE module prioritizes important applications. 

C. The AppQoE module provides routing, based on network conditions. 

D. The AppQoE module blocks access to risky applications. 

Correct Answer: A 
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